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JE AL 237 HERES i B 1R (OUT/IN) |[:{o4 NET FERER i B PHC 1R (OUT/IN)

1 76 {kEBE 3 VIN = 76 (38/38) 1 * 66 EH5f F#H /\F 11 77 (39/38)

2 78 Ik EM  N\F 78 (39/39) 2 69 MH 2 H&R 10 79 (40/39)

3 78 HR O #H— NF 78 (39/39) 3 74 BF EAR +HHHEEE 8 82 (39/43)

4 78 ®E #HE  HH 78 (37/41) 4 76 HEF JE— UhHDF 8 84 (37/47)

5 79 EX EFE /\F 79 (36/43) 5 78 TH W +AHERE 7 85 (42/43)

6 80 AR FEE HH0KERE 80 (41/39) 6 80 HFth Bk +HMEMER 10 90 (42/48)

7 80 #:E B EA 80 (38/42) 7 84 11O = +MEHER 7 91 (45/46)

8 81 ¥t xiE  FHOIVIL 81 (44/37) 8 84 =t F— FHHOAVL 10 94 (45/49)
9 82 #iR #i—B /\F 82 (46/36)
10 82 EH MK NF 82 (44/38)
11 82 HifE 1T /\F 82 (42/40)
12 83 K#2 1EBE HH0OKERE 83 (44/39)
13 84 FH mne ER 84 (40/44)
14 84 Tk £ +HESSE 84 (39/45)
15 87 A{RH | <4 87 (44/43)
16 88 Rk 5 #H#H 88 (43/45)
17 88 HtiR = HLOKERE 88 (42/46)
18 89 L#E & +HEER 89 (45/44)
19 89 /A BE IR 89 (41/48)
20 0 FR HFR NP 90 (48/42)
21 0 #ER FE /N\F 90 (43/47)
22 2 RE 25 N\F 92 (48/44)
23 92 E8 #HF— JGATLETL 92 (42/50)
24 97 Jtt g +HEER 97 (51/46)
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B4z NET BRER R PHC 1R (OUT/IN)

1 65 ¥R F— HERE 14 79 (38/41)

2 74 EB E— +HAEE 19 93 (46/47)

3 75 JMUE #BE O/ 6 81 (40/41)

4 76 S BE /N\F 10 86 (45/41)

5 78 KA BE  +MEEE 22 100 (48/52)

6 82 AE 2 +HHER 21 103 (51/52)

7 84 IR #E / 30 114 (57/57)
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Bz A7 BRER R 1R (OUT/IN)
1 © 75 ME #hH FREOAVIL 75 (37/38)
2 © 8 FH =¥ /\F 85 (44/41)
3 O 98 EF HE Ubo¥F 98 (50/48)
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